
Q .1Q .1 Who among the fo l lowing wrote the book  t it led  ‘The M irac le M akers :  Ind ian C r ic ket ’sWho among the fo l lowing wrote the book  t it led  ‘The M irac le M akers :  Ind ian C r ic ket ’s
G reates t  E pic ’?G reates t  E pic ’?

A nsA ns 1. Paul Arun 

2. Bharat Sundaresan and Gaurav Joshi

3. Ronojoy Sen

4. Boria Majumdar and Nalin Mehta

Q .2Q .2 In whic h y ear  was  the Wild l i fe Protec t ion A c t  implemented in Ind ia?In whic h y ear  was  the Wild l i fe Protec t ion A c t  implemented in Ind ia?

A nsA ns 1. 1948

2. 1966

3. 1972

4. 1953

Q .3Q .3 Whic h of the given pairs  is/are c orrec t ly  matc hed?Whic h of the given pairs  is/are c orrec t ly  matc hed?

1 .  F irs t  Woman S peaker  of L ok  S abha :  M eira Kumar1 .  F irs t  Woman S peaker  of L ok  S abha :  M eira Kumar
2 .  Ind ia’s  Firs t  Woman Pres ident :  Prat ibha Pat i l2 .  Ind ia’s  Firs t  Woman Pres ident :  Prat ibha Pat i l
3.  Ind ia’s  Firs t  Woman Pr ime M inis ter  :  Ind ira G andhi3.  Ind ia’s  Firs t  Woman Pr ime M inis ter  :  Ind ira G andhi

A nsA ns 1. 3 only

2. 1, 2 and 3

3. 2 and 3 only

4. 1 and 2 only

Q .4Q .4 To fight for  the r ights  of  Dal its ,  whic h of the fo l lowing organis at ions  was  founded byTo fight for  the r ights  of  Dal its ,  whic h of the fo l lowing organis at ions  was  founded by
BR A mbedkar?BR A mbedkar?

A nsA ns 1. Bodh Samaj

2. Scheduled Castes Federation

3. Arya Samaj

4. Brahmo Samaj
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Q . 5Q . 5 When was  the Rani  of  Jhans i  k i l led  in a  batt le with the Br it is h?When was  the Rani  of  Jhans i  k i l led  in a  batt le with the Br it is h?

A nsA ns 1. 1859

2. 1862

3. 1858

4. 1867

Q .6Q .6 Paly agas ala i  M udukudumi Peruvaludi  was  the ruler  of  whic h of the fo l lowingPaly agas ala i  M udukudumi Peruvaludi  was  the ruler  of  whic h of the fo l lowing
dy nas t ies?dy nas t ies?

A nsA ns 1. Pallava

2. Rashtrakuta

3. Satavahana

4. Pandya

Q .7Q .7 A cc ording to  A rt ic le 1 24 ( 2 )  of  the C ons t itut ion of Ind ia ,  who is  res pons ible forA cc ording to  A rt ic le 1 24 ( 2 )  of  the C ons t itut ion of Ind ia ,  who is  res pons ible for
appoint ing S upreme C ourt  judges?appoint ing S upreme C ourt  judges?

A nsA ns 1. The President of India

2. The Chief Justice of India

3. The Prime Minister of India

4. The Law Minister of India

Q .8Q .8 Who unvei led  the 7Who unvei led  the 7t ht h  ed it ion of the Youth C o : L ab National  Innovat ion C hal lenge for ed it ion of the Youth C o : L ab National  Innovat ion C hal lenge for
2 0 24 -2 0 2 5?2 0 24 -2 0 2 5?

A nsA ns 1. Atal Innovation Mission (AIM), NITI Aayog and UNDP

2. Ministry of Education and UNDP

3. Ministry of Finance and Citi Foundation

4. Ministry of Science and Technology

Q .9Q .9 A s  per  the 2 0 1 1  C ens us  of Ind ia ,  whic h rel igion in Ind ia  has  the mos t urbanA s  per  the 2 0 1 1  C ens us  of Ind ia ,  whic h rel igion in Ind ia  has  the mos t urban
populat ion?populat ion?

A nsA ns 1. Islam

2. Christianity

3. Jainism

4. Sikhism

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q .1 0Q .1 0 Whic h M ughal  E mperor  was  firs t  to  us e gunpowder  and art i l lery  in Ind ia?Whic h M ughal  E mperor  was  firs t  to  us e gunpowder  and art i l lery  in Ind ia?

A nsA ns 1. Jahangir

2. Akbar

3. Babur

4. Humayun

Q .1 1Q .1 1 In M arc h 2 0 24 ,  under  a  major  c rac kdown on s treaming s erv ices  s howingIn M arc h 2 0 24 ,  under  a  major  c rac kdown on s treaming s erv ices  s howing
inappropr iate c ontent ,  the Indian government banned ____ ‘over- the- top’ (O TT)inappropr iate c ontent ,  the Indian government banned ____ ‘over- the- top’ (O TT)
platforms  for  hos t ing 'obs cene,  vulgar,  and even pornographic '  mater ia l  des piteplatforms  for  hos t ing 'obs cene,  vulgar,  and even pornographic '  mater ia l  des pite
repeated warnings .repeated warnings .

A nsA ns 1. 12

2. 18

3. 22

4. 10

Q .1 2Q .1 2 What was  the pr imary  a im of the M us l im L eague when it  was  firs t  es tabl is hed?What was  the pr imary  a im of the M us l im L eague when it  was  firs t  es tabl is hed?

A nsA ns 1. To promote Hindu-Muslim unity

2. To form a separate state for Muslims

3. To seek independence from British rule

4. To safeguard the rights of Indian Muslims

Q .1 3Q .1 3 A  bi l l  other  than a money  or  financ ial  bi l l  may  be introduced in either  Hous es  ofA  bi l l  other  than a money  or  financ ial  bi l l  may  be introduced in either  Hous es  of
Par l iament and requires  pas s age in both the Hous es  before it  c an be s ent for  thePar l iament and requires  pas s age in both the Hous es  before it  c an be s ent for  the
Pres ident 's  as s ent .  A  bi l l  may  be introduced either  by  a  ____________ or  by  a  pr ivatePres ident 's  as s ent .  A  bi l l  may  be introduced either  by  a  ____________ or  by  a  pr ivate
M ember.M ember.

A nsA ns 1. Minister

2. Deputy Speaker of Lok Sabha

3. Chief Justice

4. Attorney General of India

Q .1 4Q .1 4 Whic h Indian s tate topped the 2 0 24  L oc al  G overnance Performance Index ,  mark ing aWhic h Indian s tate topped the 2 0 24  L oc al  G overnance Performance Index ,  mark ing a
s ignific ant miles tone in decentral is ed development and governance effic ienc y ?s ignific ant miles tone in decentral is ed development and governance effic ienc y ?

A nsA ns 1. Tamil Nadu

2. Maharashtra

3. Karnataka

4. Kerala
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Q .1 5Q .1 5 A s  per  report  'L and us e s tat is t ic s  at  a  galance:  2 0 2 2 -2 3 ' ,  s hare of net  irr igated areaA s  per  report  'L and us e s tat is t ic s  at  a  galance:  2 0 2 2 -2 3 ' ,  s hare of net  irr igated area
to net  s own area is  maximum for  whic h s tate?to net  s own area is  maximum for  whic h s tate?

A nsA ns 1. Kerala

2. Rajasthan

3. Punjab

4. Himachal Pradesh

Q .1 6Q .1 6 Whic h Part  of  the Indian C ons t itut ion deals  with elec t ions?Whic h Part  of  the Indian C ons t itut ion deals  with elec t ions?

A nsA ns 1. 

2. 

3. 

4. 

Q .1 7Q .1 7 Jammu and Kas hmir  is  the s o le producer  of whic h of the fo l lowing minerals?Jammu and Kas hmir  is  the s o le producer  of whic h of the fo l lowing minerals?

A nsA ns 1. Sapphire

2. Bauxite

3. Limestone

4. Copper

Q .1 8Q .1 8 The T2 0  World  C up 2 0 24  was  held  in ________ .The T2 0  World  C up 2 0 24  was  held  in ________ .

A nsA ns 1. England and New Zealand

2. Pakistan and Bangladesh

3. India and Sri Lanka

4. USA and West Indies

Q .1 9Q .1 9 Whic h of the fo l lowing c ountr ies  has  offic ial ly  bec ome a part  of  the M inerals  S ec ur ityWhic h of the fo l lowing c ountr ies  has  offic ial ly  bec ome a part  of  the M inerals  S ec ur ity
Finance Network ,  a  group led  by  the United S tates ,  in S eptember 2 0 24 ?Finance Network ,  a  group led  by  the United S tates ,  in S eptember 2 0 24 ?

A nsA ns 1. Greece

2. China

3. India

4. Spain

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q .2 0Q .2 0 Whic h of the fo l lowing s tatements  about lakes  is/are c orrec t?Whic h of the fo l lowing s tatements  about lakes  is/are c orrec t?

1 .  A  lake c an be fres h,  brac k is h or  s alt is h.1 .  A  lake c an be fres h,  brac k is h or  s alt is h.
2 .  L akes  are only  found in low- alt itude areas  in Ind ia .2 .  L akes  are only  found in low- alt itude areas  in Ind ia .
3.  Wular  L ake is  the larges t  lake in the Kas hmir  Val ley .3.  Wular  L ake is  the larges t  lake in the Kas hmir  Val ley .

A nsA ns 1. Only 1 and 3

2. Only 2

3. Only 1

4. Only 2 and 3

Q .2 1Q .2 1 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

1 5,  1 9 ,  1 4 ,  2 3,  1 3,  2 7,  ?1 5,  1 9 ,  1 4 ,  2 3,  1 3,  2 7,  ?

A nsA ns 1. 28

2. 17

3. 31

4. 12

Q .2 2Q .2 2 E ac h vowel  in the word TE C HNIC A L  is  c hanged to  the letter  immediately  fo l lowing itE ac h vowel  in the word TE C HNIC A L  is  c hanged to  the letter  immediately  fo l lowing it
in the E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letterin the E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter
immediately  preceding it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowingimmediately  preceding it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing
letters  wi l l  be fourth from the r ight  in the new group of letters  thus  formed?letters  wi l l  be fourth from the r ight  in the new group of letters  thus  formed?

A nsA ns 1. F

2. J

3. K

4. B

Q .2 3Q .2 3 HY 1 8  is  related to  JV  4  in a  certain way .  In the s ame way ,  G L  2 9 is  related to  I I  1 5.  ToHY 1 8  is  related to  JV  4  in a  certain way .  In the s ame way ,  G L  2 9 is  related to  I I  1 5.  To
whic h of the given options  is  E L  9  related ,  fo l lowing the s ame logic ?whic h of the given options  is  E L  9  related ,  fo l lowing the s ame logic ?

A nsA ns 1. GH −7

2. FH −5

3. GI −5

4. FI −7
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Q .24Q .24 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

2 0  2 0  4 0  4 0  60  60  80  80  1 0 0  1 0 0  ??

A nsA ns 1. 120

2. 115

3. 125

4. 110

Q .2 5Q .2 5 Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ters  areBas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ters  are
al ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  DO E S  NO T belongal ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  DO E S  NO T belong
to that  group?to that  group?
( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their( Note:  The odd one out is  not  bas ed on the number of c ons onants/vowels  or  their
pos it ion in the letter- c lus ter. )pos it ion in the letter- c lus ter. )

A nsA ns 1. KTC

2. PYH

3. UDM

4. RAW

Q .2 6Q .2 6 If  2  is  added to  eac h odd d igit  and 3  is  s ubtrac ted from eac h even d igit  in the numberIf  2  is  added to  eac h odd d igit  and 3  is  s ubtrac ted from eac h even d igit  in the number
3 4 5781 6 ,  then how many  d igits  wi l l  appear  more than once in the new number thus3 4 5781 6 ,  then how many  d igits  wi l l  appear  more than once in the new number thus
formed?  formed?  

A nsA ns 1. 

2. 

3. 

4. 
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Q .2 7Q .2 7 A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?  A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?  

A nsA ns 1. 

2. 

3. 

4. 

Q .2 8Q .2 8 A ,  B,  C ,  D,  and E  are s itt ing in a  row,  fac ing north.  E xac t ly  two people s it  to  the r ightA ,  B,  C ,  D,  and E  are s itt ing in a  row,  fac ing north.  E xac t ly  two people s it  to  the r ight
of B.  C  and D are s itt ing at  the two extreme ends  of the row.  E  s its  to  the immediateof B.  C  and D are s itt ing at  the two extreme ends  of the row.  E  s its  to  the immediate
r ight of D.r ight  of D.
Who is  s itt ing to  the immediate r ight  of B?Who is  s itt ing to  the immediate r ight  of B?

A nsA ns 1. E

2. D

3. C

4. A
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Q .2 9Q .2 9 Whic h of the fo l lowing letter- c lus ters  s hould  replace # and % s o that  the pattern andWhic h of the fo l lowing letter- c lus ters  s hould  replace # and % s o that  the pattern and
relat ions hip fo l lowed between the letter- c lus ter  pair  on the left  s ide of : :  is  the s amerelat ions hip fo l lowed between the letter- c lus ter  pair  on the left  s ide of : :  is  the s ame
as  that  on the r ight  s ide of : : ?as  that  on the r ight  s ide of : : ?

# :  HKL  : :  DG H :  %# :  HKL  : :  DG H :  %

A nsA ns 1. # = FII, % = EHI

2. # = FIJ, % = FIJ
            

3. # = FIJ, % = FHK

4. # = FKL, % = FIJ

Q .3 0Q .3 0 If  1  is  added to  eac h even d igit  and 2  is  s ubtrac ted from eac h odd d igit  in the numberIf  1  is  added to  eac h even d igit  and 2  is  s ubtrac ted from eac h odd d igit  in the number
3 4 653 82 7,  how many  d igits  wi l l  appear  more than once in the new number thus3 4 653 82 7,  how many  d igits  wi l l  appear  more than once in the new number thus
formed?  formed?  

A nsA ns 1. Two

2. Three

3. Zero

4. One

Q .3 1Q .3 1 In a  certain c ode language,  In a  certain c ode language,  
‘P  + Q ’ means  ‘P  is  the mother  of Q ’ ,‘P  + Q ’ means  ‘P  is  the mother  of Q ’ ,
‘P  – Q ’ means  ‘P  is  the s is ter  of  Q ’ ,  ‘P  – Q ’ means  ‘P  is  the s is ter  of  Q ’ ,  
‘P  x  Q ’ means  ‘P  is  the wife of Q ’ and‘P  x  Q ’ means  ‘P  is  the wife of Q ’ and
‘P  ÷  Q ’ means  ‘P  is  the father  of Q ’ .‘P  ÷  Q ’ means  ‘P  is  the father  of Q ’ .

How is  E  related to  T  i f  ‘T  x  B  ÷  C  + E  – Z ’?How is  E  related to  T  i f  ‘T  x  B  ÷  C  + E  – Z ’?

A nsA ns 1. Husband’s sister

2. Daughter

3. Mother’s sister

4. Daughter’s daughter
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Q .3 2Q .3 2 A l l  3 5 s tudents  of a  c las s  are s tanding in a  s traight l ine,  fac ing the north.  S oham isA l l  3 5 s tudents  of a  c las s  are s tanding in a  s traight l ine,  fac ing the north.  S oham is
1 51 5 t ht h  from the r ight  end ,  whi le Riy a is  2 0 from the r ight  end ,  whi le Riy a is  2 0t ht h  from the left  end .  How many  people are from the left  end .  How many  people are
s tanding between Riy a and S oham?s tanding between Riy a and S oham?

A nsA ns 1. 2

2. 0

3. 1

4. 3

Q .3 3Q .3 3 If  eac h letter  in the word ‘S TUM PE D’ is  c hanged to  the letter  immediately  fo l lowing itI f  eac h letter  in the word ‘S TUM PE D’ is  c hanged to  the letter  immediately  fo l lowing it
in the E ngl is h a lphabetic al  s er ies ,  whic h of the fo l lowing letters  wi l l  be third  from thein the E ngl is h a lphabetic al  s er ies ,  whic h of the fo l lowing letters  wi l l  be third  from the
r ight end in the new group of letters  thus  formed?r ight end in the new group of letters  thus  formed?

A nsA ns 1. U

2. F

3. Q

4. N

Q .3 4Q .3 4 3  is  related to  1 0  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  5 is  related to3  is  related to  1 0  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  5 is  related to
1 0 8 .  To  whic h of the given options  is  7  related ,  fo l lowing the s ame logic ?1 0 8 .  To  whic h of the given options  is  7  related ,  fo l lowing the s ame logic ?

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h asdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h as
adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into  1  and 3adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into  1  and 3
and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )  

A nsA ns 1. 322

2. 324

3. 328

4. 326
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Q .3 5Q .3 5 Whic h of the fo l lowing letter- c lus ters  s hould  replace # and % s o that  the pattern andWhic h of the fo l lowing letter- c lus ters  s hould  replace # and % s o that  the pattern and
relat ions hip fo l lowed between the letter- c lus ter  pair  on the left  s ide of : :  is  the s amerelat ions hip fo l lowed between the letter- c lus ter  pair  on the left  s ide of : :  is  the s ame
as  that  on the r ight  s ide of : : ?as  that  on the r ight  s ide of : : ?

# :  JM U : :  C RM  :  %# :  JM U : :  C RM  :  %

A nsA ns 1. # = ILS, % = DTO

2. # = HKT, % = ESN

3. # = HKS, % = ETO

4. # = HLS, % = ETN

Q .3 6Q .3 6 E ac h vowel  in the word FA BRIC ATIO N is  c hanged to  the s ec ond letter  preceding it  inE ac h vowel  in the word FA BRIC ATIO N is  c hanged to  the s ec ond letter  preceding it  in
the E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letterthe E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter
immediately  fo l lowing it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowingimmediately  fo l lowing it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing
letters  wi l l  appear  exac t ly  thr ice in the letter- c lus ter  thus  formed?letters  wi l l  appear  exac t ly  thr ice in the letter- c lus ter  thus  formed?

A nsA ns 1. D

2. Y

3. M

4. G

Q .3 7Q .3 7 Refer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting toRefer  to  the fo l lowing letter  s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting to
be done from left  to  r ight  only .be done from left  to  r ight  only .
( L eft)  V  ( L eft)  V  X  X  Y  Y  T  T  R R E  E  S  S  I  I  C  C  B  B  J  J  A  A  N N A  A  Q  Q  F F K K H H Q  Q  U U G  ( Right)G  ( Right)
How many  s uc h c ons onants  are there eac h of whic h is  immediately  preceded by  aHow many  s uc h c ons onants  are there eac h of whic h is  immediately  preceded by  a
vowel  and als o  immediately  fo l lowed by  a  vowel?vowel  and als o  immediately  fo l lowed by  a  vowel?

A nsA ns 1. Three

2. One

3. Two

4. None

Q .3 8Q .3 8 Bas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ters  areBas ed on the E ngl is h a lphabetic al  order,  three of the fo l lowing four  letter- c lus ters  are
al ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  DO E S  NO T belongal ike in a  certain way  and thus  form a group.  Whic h letter- c lus ter  DO E S  NO T belong
to that  group?  ( Note:  The odd one out is  not  bas ed on the number ofto  that  group?  ( Note:  The odd one out is  not  bas ed on the number of
c ons onants/vowels  or  their  pos it ion in the letter- c lus ter. )c ons onants/vowels  or  their  pos it ion in the letter- c lus ter. )

A nsA ns 1. ZWC

2. HEK

3. QNT

4. BYG
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Q .3 9Q .3 9 If  2  is  added to  eac h even d igit  and 1  is  s ubtrac ted from eac h odd d igit  in the numberIf  2  is  added to  eac h even d igit  and 1  is  s ubtrac ted from eac h odd d igit  in the number
973 564 2 ,  what wi l l  be the s um of the d igits  that  are third  from the left  and third  from973 564 2 ,  what wi l l  be the s um of the d igits  that  are third  from the left  and third  from
the r ight  in the new number thus  formed?the r ight  in the new number thus  formed?

A nsA ns 1. 14

2. 8

3. 10

4. 12

Q .4 0Q .4 0 Two s ets  of  numbers  are given below.  In eac h s et  of  numbers ,  certain mathematic alTwo s ets  of  numbers  are given below.  In eac h s et  of  numbers ,  certain mathematic al
operat ion(s)  on the firs t  number res ults  in the s ec ond number.  S imilar ly ,  certainoperat ion(s)  on the firs t  number res ults  in the s ec ond number.  S imilar ly ,  certain
mathematic al  operat ion(s)  on the s ec ond number res ults  in the third  number and s omathematic al  operat ion(s)  on the s ec ond number res ults  in the third  number and s o
on.  Whic h of the given options  fo l lows  the s ame s et  of  operat ions  as  in the givenon.  Whic h of the given options  fo l lows  the s ame s et  of  operat ions  as  in the given
s ets?  s ets?  
( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h asdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h as
adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into  1adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into  1
and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )

1 7- 51 - 1 0 2 - 1 1 7;  1 9- 57- 1 1 4 - 1 2 91 7- 51 - 1 0 2 - 1 1 7;  1 9- 57- 1 1 4 - 1 2 9

A nsA ns 1. 14-42-84-98

2. 13-39-78-83

3. 11-33-66-76

4. 15-45-90-105

Q .4 1Q .4 1 S elec t  the mos t appropr iate meaning of the given id iom.S elec t  the mos t appropr iate meaning of the given id iom.
A  c lean s lateA  c lean s late

A nsA ns 1. A situation where someone makes the same mistake again

2. A list of things that need to be cleaned up

3. A fresh start without considering past mistakes or events

4. A clever plan that erases all problems instantly

Section : General English and Comprehension
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Q .4 2Q .4 2 S elec t  the mos t appropr iate s y nony m of the given word .S elec t  the mos t appropr iate s y nony m of the given word .

ValeVale

A nsA ns 1. Summit

2. Pinnacle

3. Plateau

4. Valley

Q .43Q .43 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .

He _____ dec ided not to  talk  to  s trangers .He _____ dec ided not to  talk  to  s trangers .

A nsA ns 1. wisely

2. gloomily

3. gracefully

4. merrily

Q .4 4Q .4 4 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .
S he was  t ired __ s he took  res t .S he was  t ired __ s he took  res t .

A nsA ns 1. because

2. otherwise

3. therefore

4. yet

Q .4 5Q .4 5 S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group ofS elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group of
words .words .

A  pers on who c an us e both hands  with equal  s k i l lA  pers on who c an us e both hands  with equal  s k i l l

A nsA ns 1. Clumsy

2. Ambidextrous

3. Maladroit

4. Inept
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C omprehens ion:C omprehens ion:

Read the given passage and answer the questions that follow.

One 2002 study of more than 800 nuns in the United States found that frequently
participating in cognitively stimulating activities reduced their risk of Alzheimer’s disease. A
more recent study of older adults in Japan found participation in meaningful activities could
protect against declines in memory function. Meanwhile, other research has found that people
who received an intervention of cognitively stimulating activities, typically in a social setting,
saw improvements in cognition, mood, communication and social interaction.
Gardening appears to have specific cognitive benefits. For one thing, gardeners seem to
experience gains in the nerve levels of brain-derived neurotrophic factor (BDNF), a protein that
plays an important role in the growth and survival of neurons. They also receive boosts to their
vascular endothelial growth factor (VEG F), a protein associated with improving cognitive
functioning. Gardening has also been shown to improve attention, lessen stress, reduce falls and
lower reliance on medications.

S ubQ ues t ion No :  4 6S ubQ ues t ion No :  4 6

Q .4 6Q .4 6 What is  the tone of the s peaker?What is  the tone of the s peaker?

A nsA ns 1. Apologetic

2. Optimistic

3. Cynical

4. Jovial
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C omprehens ion:C omprehens ion:

Read the given passage and answer the questions that follow.

One 2002 study of more than 800 nuns in the United States found that frequently
participating in cognitively stimulating activities reduced their risk of Alzheimer’s disease. A
more recent study of older adults in Japan found participation in meaningful activities could
protect against declines in memory function. Meanwhile, other research has found that people
who received an intervention of cognitively stimulating activities, typically in a social setting,
saw improvements in cognition, mood, communication and social interaction.
Gardening appears to have specific cognitive benefits. For one thing, gardeners seem to
experience gains in the nerve levels of brain-derived neurotrophic factor (BDNF), a protein that
plays an important role in the growth and survival of neurons. They also receive boosts to their
vascular endothelial growth factor (VEG F), a protein associated with improving cognitive
functioning. Gardening has also been shown to improve attention, lessen stress, reduce falls and
lower reliance on medications.

S ubQ ues t ion No :  47S ubQ ues t ion No :  47

Q .47Q .47 S elec t  the mos t appropr iate t it le for  the pas s age.S elec t  the mos t appropr iate t it le for  the pas s age.

A nsA ns 1. How to Reduce Appetite and Weight

2. How to Prevent Alzheimer’s

3. How to Boost Brain Health

4. How to Strengthen Memory and Focus
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C omprehens ion:C omprehens ion:

Read the given passage and answer the questions that follow.

One 2002 study of more than 800 nuns in the United States found that frequently
participating in cognitively stimulating activities reduced their risk of Alzheimer’s disease. A
more recent study of older adults in Japan found participation in meaningful activities could
protect against declines in memory function. Meanwhile, other research has found that people
who received an intervention of cognitively stimulating activities, typically in a social setting,
saw improvements in cognition, mood, communication and social interaction.
Gardening appears to have specific cognitive benefits. For one thing, gardeners seem to
experience gains in the nerve levels of brain-derived neurotrophic factor (BDNF), a protein that
plays an important role in the growth and survival of neurons. They also receive boosts to their
vascular endothelial growth factor (VEG F), a protein associated with improving cognitive
functioning. Gardening has also been shown to improve attention, lessen stress, reduce falls and
lower reliance on medications.

S ubQ ues t ion No :  4 8S ubQ ues t ion No :  4 8

Q .4 8Q .4 8 What benefit is  gardening as s oc iated with,  acc ording to  the pas s age?What benefit is  gardening as s oc iated with,  acc ording to  the pas s age?

A nsA ns 1. Attention improving with gardening

2. Memory worsening from plants

3. Social skills weakening outside

4. Coordination suffering with exercise
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C omprehens ion:C omprehens ion:

Read the given passage and answer the questions that follow.

One 2002 study of more than 800 nuns in the United States found that frequently
participating in cognitively stimulating activities reduced their risk of Alzheimer’s disease. A
more recent study of older adults in Japan found participation in meaningful activities could
protect against declines in memory function. Meanwhile, other research has found that people
who received an intervention of cognitively stimulating activities, typically in a social setting,
saw improvements in cognition, mood, communication and social interaction.
Gardening appears to have specific cognitive benefits. For one thing, gardeners seem to
experience gains in the nerve levels of brain-derived neurotrophic factor (BDNF), a protein that
plays an important role in the growth and survival of neurons. They also receive boosts to their
vascular endothelial growth factor (VEG F), a protein associated with improving cognitive
functioning. Gardening has also been shown to improve attention, lessen stress, reduce falls and
lower reliance on medications.

S ubQ ues t ion No :  4 9S ubQ ues t ion No :  4 9

Q .4 9Q .4 9 What d id  the 2 0 0 2  s tudy  c onc lude as  per  the pas s age?What d id  the 2 0 0 2  s tudy  c onc lude as  per  the pas s age?

A nsA ns 1. Social settings improved communication.

2. Japan found memory improvement.

3. Gardening increased the BDNF levels.

4. Stimulating activities reduced the risk of Alzheimer’s disease.
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C omprehens ion:C omprehens ion:

Read the given passage and answer the questions that follow.

One 2002 study of more than 800 nuns in the United States found that frequently
participating in cognitively stimulating activities reduced their risk of Alzheimer’s disease. A
more recent study of older adults in Japan found participation in meaningful activities could
protect against declines in memory function. Meanwhile, other research has found that people
who received an intervention of cognitively stimulating activities, typically in a social setting,
saw improvements in cognition, mood, communication and social interaction.
Gardening appears to have specific cognitive benefits. For one thing, gardeners seem to
experience gains in the nerve levels of brain-derived neurotrophic factor (BDNF), a protein that
plays an important role in the growth and survival of neurons. They also receive boosts to their
vascular endothelial growth factor (VEG F), a protein associated with improving cognitive
functioning. Gardening has also been shown to improve attention, lessen stress, reduce falls and
lower reliance on medications.

S ubQ ues t ion No :  50S ubQ ues t ion No :  50

Q . 50Q . 50 Identify  the mos t appropr iate word given in the pas s age whic h is  an A NTO NYM  ofIdentify  the mos t appropr iate word given in the pas s age whic h is  an A NTO NYM  of
' independence' .' independence' .

A nsA ns 1. reliance

2. participation

3. intervention

4. cognition

Q . 51Q . 51 '' एकएक   आँखआँख   सेसे   दे ख नादे ख ना '  '  मुहा वरामुहा वरा   काका   सहीसही   अथiअथi   हैहै  - -

A nsA ns 1. भेद-भाव कl mिo से देखना।

2. चालबाजी कl mिo से देखना

3. uशकार कl mिo से देखना

4. समान mिw से देखना

Section : General Hindi and Comprehension
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Q . 52Q . 52 xनyxनy   मzमz   सेसे  ' ' रा ि{रा ि{ '  '  काका   प य~ यवा चीप य~ यवा ची   कौ नकौ न -- सासा   नह�नह�   हैहै  ? ?

A nsA ns 1. शवiर�

2. ि{यामा

3. �णदा

4. त�ड़त

Q . 53Q . 53 '' ता मuसकता मuसक '  '  काका   xवलो मxवलो म   श�श�   हो गाहो गा  - -

A nsA ns 1. स�ान�

2. स�

3. स�वंत

4. सा��क

Q . 54Q . 54 मुहा वरेमुहा वरे   केके   सहीसही   अथiअथi   काका   चयनचयन   क रzक रz --
‘‘ द� तद� त   �ग नना�ग नना ’’

A nsA ns 1. उ� बताना

2. बुरे  �दन आना

3. प� करना

4. हार मानना

Q . 55Q . 55 �द ए�द ए   ग एग ए   वा �वा �   मzमz   �र ��र �   �ा न�ा न   केके   uलएuलए   उ प यु�उ प यु�   श�श�   चुनzचुनz ।।
वहवह   सजासजा  . . . . . . . . . . .   . . . . . . . . . . .  केके   ला यकला यक   हैहै ।।

A nsA ns 1. होने

2. �गरने

3. पाने

4. नाल
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C omprehens ion:C omprehens ion:

�दए गए ग��श के आधार पर xनy�िकत ��� के उ�र दीuजए--
संसदीय �जातं{ मz सदन के दो प� होते ह । एक स�ा प� जो सरकार का xनम~ण करता है तथा दूसरा xवप� जो स�ा के
संचालन को संतुuलत एवं xनयंि{त करता है। सरकार का काम शासन चलाना होता है और xवप� का कायi सरकार कl
नीxतय� कl आलोचना एवं वैक£¤क नीxतय� ��ुत करना होता है। xवप� के कारण ही सरकार मनमानी कर नाग�रक
¥तं{ता का हनन नह� कर पाती। xवप�ी दल आलोचना करने के uलए xनy साधन� का �योग करते ह -- ��ो�र,
अ¤कालीन चच~, �गन ��ाव, ¦ानाकषiण ��ाव, xवशेषा¨धकार का ��, सदन का अवमान, अxव©ास ��ाव, xनंदा
��ाव आ�द। xवप� ªारा समय-समय पर कl गयी आलोचना से जनता को सरकार कl नीxतय� व उसके कृ�� का
अनौ¬च� अव­ मालूम होता रहता है। xवप� के सतकi  रहने का प�रणाम यह होता है िक शासन जनमत के �xत जाग®क
बना रहता है।

S ubQ ues t ion No :  56S ubQ ues t ion No :  56

Q . 56Q . 56 xवप �xवप �   केके   सत कiसत कi   र हनेर हने   काका   एकएक   प �र णा मप �र णा म   यहयह   भीभी   हैहै - -- -

A nsA ns 1. सरकार स�ा नह� चला पाती

2. शासन जनता के xव®¯ कायi करता है

3. सरकार अपनी नीxतय� लागू नह� कर पाती

4. शासन जनमत के �xत जाग°क रहता है

C omprehens ion:C omprehens ion:

�दए गए ग��श के आधार पर xनy�िकत ��� के उ�र दीuजए--
संसदीय �जातं{ मz सदन के दो प� होते ह । एक स�ा प� जो सरकार का xनम~ण करता है तथा दूसरा xवप� जो स�ा के
संचालन को संतुuलत एवं xनयंि{त करता है। सरकार का काम शासन चलाना होता है और xवप� का कायi सरकार कl
नीxतय� कl आलोचना एवं वैक£¤क नीxतय� ��ुत करना होता है। xवप� के कारण ही सरकार मनमानी कर नाग�रक
¥तं{ता का हनन नह� कर पाती। xवप�ी दल आलोचना करने के uलए xनy साधन� का �योग करते ह -- ��ो�र,
अ¤कालीन चच~, �गन ��ाव, ¦ानाकषiण ��ाव, xवशेषा¨धकार का ��, सदन का अवमान, अxव©ास ��ाव, xनंदा
��ाव आ�द। xवप� ªारा समय-समय पर कl गयी आलोचना से जनता को सरकार कl नीxतय� व उसके कृ�� का
अनौ¬च� अव­ मालूम होता रहता है। xवप� के सतकi  रहने का प�रणाम यह होता है िक शासन जनमत के �xत जाग®क
बना रहता है।

S ubQ ues t ion No :  57S ubQ ues t ion No :  57

Q . 57Q . 57 स�ास�ा   प �प �   कlकl   आ लो चनाआ लो चना   क र नेक र ने   केके   uलएuलए   xवप �ीxवप �ी   द लद ल   xनyxनy   मzमz   सेसे   िक सिक स   सा धनसा धन   काका   � यो ग� यो ग   नह�नह�   क र ताक र ता - -- -

A nsA ns 1. �गन ��ाव

2. अxव©ास ��ाव

3. ��ो�र

4. हड़ताल
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C omprehens ion:C omprehens ion:

�दए गए ग��श के आधार पर xनy�िकत ��� के उ�र दीuजए--
संसदीय �जातं{ मz सदन के दो प� होते ह । एक स�ा प� जो सरकार का xनम~ण करता है तथा दूसरा xवप� जो स�ा के
संचालन को संतुuलत एवं xनयंि{त करता है। सरकार का काम शासन चलाना होता है और xवप� का कायi सरकार कl
नीxतय� कl आलोचना एवं वैक£¤क नीxतय� ��ुत करना होता है। xवप� के कारण ही सरकार मनमानी कर नाग�रक
¥तं{ता का हनन नह� कर पाती। xवप�ी दल आलोचना करने के uलए xनy साधन� का �योग करते ह -- ��ो�र,
अ¤कालीन चच~, �गन ��ाव, ¦ानाकषiण ��ाव, xवशेषा¨धकार का ��, सदन का अवमान, अxव©ास ��ाव, xनंदा
��ाव आ�द। xवप� ªारा समय-समय पर कl गयी आलोचना से जनता को सरकार कl नीxतय� व उसके कृ�� का
अनौ¬च� अव­ मालूम होता रहता है। xवप� के सतकi  रहने का प�रणाम यह होता है िक शासन जनमत के �xत जाग®क
बना रहता है।

S ubQ ues t ion No :  58S ubQ ues t ion No :  58

Q . 58Q . 58 xनyxनy   मzमz   सेसे  ' ' बहुमतबहुमत '  '  काका   xवलो मxवलो म   हैहै - -- -

A nsA ns 1. अ¤मत

2. एकमत

3. जनमत

4. लोकमत

C omprehens ion:C omprehens ion:

�दए गए ग��श के आधार पर xनy�िकत ��� के उ�र दीuजए--
संसदीय �जातं{ मz सदन के दो प� होते ह । एक स�ा प� जो सरकार का xनम~ण करता है तथा दूसरा xवप� जो स�ा के
संचालन को संतुuलत एवं xनयंि{त करता है। सरकार का काम शासन चलाना होता है और xवप� का कायi सरकार कl
नीxतय� कl आलोचना एवं वैक£¤क नीxतय� ��ुत करना होता है। xवप� के कारण ही सरकार मनमानी कर नाग�रक
¥तं{ता का हनन नह� कर पाती। xवप�ी दल आलोचना करने के uलए xनy साधन� का �योग करते ह -- ��ो�र,
अ¤कालीन चच~, �गन ��ाव, ¦ानाकषiण ��ाव, xवशेषा¨धकार का ��, सदन का अवमान, अxव©ास ��ाव, xनंदा
��ाव आ�द। xवप� ªारा समय-समय पर कl गयी आलोचना से जनता को सरकार कl नीxतय� व उसके कृ�� का
अनौ¬च� अव­ मालूम होता रहता है। xवप� के सतकi  रहने का प�रणाम यह होता है िक शासन जनमत के �xत जाग®क
बना रहता है।

S ubQ ues t ion No :  59S ubQ ues t ion No :  59

Q . 59Q . 59 xनyxनy   मzमz   सेसे   आ लो चनाआ लो चना   काका   xवलो मxवलो म   श�श�   हैहै - -- -

A nsA ns 1. �शंसा

2. अ¥ीकृxत

3. समी�ा

4. xनंदा
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C omprehens ion:C omprehens ion:

�दए गए ग��श के आधार पर xनy�िकत ��� के उ�र दीuजए--
संसदीय �जातं{ मz सदन के दो प� होते ह । एक स�ा प� जो सरकार का xनम~ण करता है तथा दूसरा xवप� जो स�ा के
संचालन को संतुuलत एवं xनयंि{त करता है। सरकार का काम शासन चलाना होता है और xवप� का कायi सरकार कl
नीxतय� कl आलोचना एवं वैक£¤क नीxतय� ��ुत करना होता है। xवप� के कारण ही सरकार मनमानी कर नाग�रक
¥तं{ता का हनन नह� कर पाती। xवप�ी दल आलोचना करने के uलए xनy साधन� का �योग करते ह -- ��ो�र,
अ¤कालीन चच~, �गन ��ाव, ¦ानाकषiण ��ाव, xवशेषा¨धकार का ��, सदन का अवमान, अxव©ास ��ाव, xनंदा
��ाव आ�द। xवप� ªारा समय-समय पर कl गयी आलोचना से जनता को सरकार कl नीxतय� व उसके कृ�� का
अनौ¬च� अव­ मालूम होता रहता है। xवप� के सतकi  रहने का प�रणाम यह होता है िक शासन जनमत के �xत जाग®क
बना रहता है।

S ubQ ues t ion No :  60S ubQ ues t ion No :  60

Q .60Q .60 संसदी यसंसदी य   � जा तं{� जा तं{   मzमz   xवप �xवप �   काका   �ा�ा   का यiका यi   हो ताहो ता   हैहै ??

A nsA ns 1. वैक£¤क सरकार चलाना

2. स�ा संचालन को xनयंि{त करना

3. स�ा चलाना

4. स�ा संचालन मz सहयोग करना

Q .61Q .61 Whic h of the fo l lowing s teps  is  us ed to  s tart  a  new s preads heet in M S  E xcel?Whic h of the fo l lowing s teps  is  us ed to  s tart  a  new s preads heet in M S  E xcel?

A nsA ns 1. Open Excel -> Press Ctrl + Z

2. Open Excel -> Press Ctrl + N

3. Open Excel -> Press Ctrl + O

4. Open Excel -> Press Ctrl + S

Q .62Q .62 How do y ou c hange the font c o lor  in M S  Word?How do y ou c hange the font c o lor  in M S  Word?

A nsA ns 1. Right-click the text →  Choose Font Color from the context menu

2. Go to the Design tab →  Select Font Color

3. Select the text →  Go to the Home tab →  Click on the Font Color button in the Font group

4. Select the text →  Go to the Insert tab →  Choose Font Color

Q .63Q .63 What is  the pr imary  func t ion of the 'A lt  + Tab'  key board s hortc ut in Windows?What is  the pr imary  func t ion of the 'A lt  + Tab'  key board s hortc ut in Windows?

A nsA ns 1. To switch between open applications

2. To lock the computer

3. To delete the selected item 

4. To unlock computer

Section : Basic Knowledge of Computer
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Q .64Q .64 A  program that  c onverts  a  high- level  language program into  a  s et  of  ins truc t ions  thatA  program that  c onverts  a  high- level  language program into  a  s et  of  ins truc t ions  that
c an run on a c omputer  is  c al led  _________ .c an run on a c omputer  is  c al led  _________ .

A nsA ns 1. loader

2. debugger

3. assembler

4. compiler

Q .65Q .65

A nsA ns 1. 

2. 

3. 

4. 

Q .66Q .66 In M S  Word ,  whic h of the fo l lowing is  NO T a val id  bul let  s ty le?In M S  Word ,  whic h of the fo l lowing is  NO T a val id  bul let  s ty le?

A nsA ns 1. Star

2. Square

3. Triangle

4. Dot

Q .67Q .67 In the c ontext  of  emai l  s y s tems ,  whic h of the fo l lowing bes t  explains  why  an emailIn the c ontext  of  emai l  s y s tems ,  whic h of the fo l lowing bes t  explains  why  an email
might remain in the O utbox ins tead of being s ent to  the rec ipient?might remain in the O utbox ins tead of being s ent to  the rec ipient?

A nsA ns 1. The email server has failed to establish a connection with the recipient's email server.

2. The email contains large attachments that exceed the server's limit.

3. The email client is set to work in offline mode.

4. The recipient's email address is invalid and cannot be reached.

Q .68Q .68 What is  the ful l  form of S M TP in emai l  c onfigurat ion?What is  the ful l  form of S M TP in emai l  c onfigurat ion?

A nsA ns 1. Secure Mail Transfer Protocol

2. Simple Message Transfer Protocol

3. Simple Mail Transfer Protocol

4. Standard Mail Transfer Protocol
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Q .69Q .69 Whic h key board s hortc ut s hould  y ou us e to  s tart  a  s l ide s how from the beginning inWhic h key board s hortc ut s hould  y ou us e to  s tart  a  s l ide s how from the beginning in
M S  PowerPoint?M S  PowerPoint?

A nsA ns 1. F5

2. Shift + S

3. Ctrl + P

4. Alt + S

Q .70Q .70 In G mail ,  what is  the purpos e of us ing labels?In G mail ,  what is  the purpos e of us ing labels?

A nsA ns 1. To organise emails by sender

2. To prioritise urgent emails

3. To delete unwanted emails

4. To search emails by keyword

Q .71Q .71 What is  the pr imary  func t ion of an addres s  book  in an email  c l ient?What is  the pr imary  func t ion of an addres s  book  in an email  c l ient?

A nsA ns 1. To store email drafts

2. To filter spam emails

3. To manage and store contact information

4. To schedule appointments

Q .72Q .72 S uppos e a us er  has  a  datas et  in M S  E xcel  2 0 1 9 with dates  in the format M M / DD/ YYYY.S uppos e a us er  has  a  datas et  in M S  E xcel  2 0 1 9 with dates  in the format M M / DD/ YYYY.
They  want to  extrac t  the y ear  from the date c o lumn.  Whic h formula would  they  us e?They  want to  extrac t  the y ear  from the date c o lumn.  Whic h formula would  they  us e?

A nsA ns 1. =TEXT(A1,"YYYY")

2. =YEAR(A1)

3. =DATE(YEAR(A1),1,1)

4. =INT(A1/10000)

Q .73Q .73 Whic h of the fo l lowing key board s hortc uts  is  us ed for  opening the Tas k  M anager?Whic h of the fo l lowing key board s hortc uts  is  us ed for  opening the Tas k  M anager?

A nsA ns 1. Ctrl + Shift + Alt

2. Ctrl + Shift + Enter

3. Ctrl + Shift + Tab

4. Ctrl + Shift + Esc
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Q .74Q .74 Whic h ac t ion s hould  be taken if  an ant iv irus  s c an detec ts  infec ted files  on aWhic h ac t ion s hould  be taken if  an ant iv irus  s c an detec ts  infec ted files  on a
c omputer?c omputer?

A nsA ns 1. Restart the computer.

2. Delete the antivirus software.

3. Quarantine or remove the infected files.

4. Ignore the infected files.

Q .75Q .75 Whic h of the fo l lowing is  NO T a c ommon font s ty le opt ion in M S  Word?Whic h of the fo l lowing is  NO T a c ommon font s ty le opt ion in M S  Word?

A nsA ns 1. Underline

2. Bold

3. Italic

4. Subscript

Q .76Q .76 Whic h of the fo l lowing is  NO T a rec ommended prac t ice for  s ec ur ing a PC ?Whic h of the fo l lowing is  NO T a rec ommended prac t ice for  s ec ur ing a PC ?

A nsA ns 1. Installing reputable antivirus software

2. Disabling firewall protection

3. Using strong, unique passwords

4. Enabling automatic software updates

Q .77Q .77 What s hould  a  us er  do before s ending an email  to  a  large group of people?What s hould  a  us er  do before s ending an email  to  a  large group of people?

A nsA ns 1. Include all recipients in the 'To' field

2. Use the 'Reply All' feature

3. Type the email in all caps

4. Check for spelling and grammar errors

Q .78Q .78 When s aving a doc ument for  the firs t  t ime,  what is  the default  loc at ion where M SWhen s aving a doc ument for  the firs t  t ime,  what is  the default  loc at ion where M S
Word s aves  it?Word s aves  it?

A nsA ns 1. The last used folder

2. The 'Documents' folder or the default save location set in MS Word options

3. The desktop

4. The root directory
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Q .79Q .79 By  whic h of the fo l lowing s teps  c an y ou add an M S  E xcel  s preads heet to  an M SBy  whic h of the fo l lowing s teps  c an y ou add an M S  E xcel  s preads heet to  an M S
PowerPoint  pres entat ion?PowerPoint  pres entat ion?

A nsA ns 1. Design -> Insert -> Excel Spreadsheet

2. View -> Insert -> Excel

3. Insert -> Object -> Create from File -> Select Excel file

4. Home -> Insert -> Excel Spreadsheet

Q .80Q .80 Whic h of the fo l lowing is  the c orrec t  s equence for  ins tal l ing a  new s oftwareWhic h of the fo l lowing is  the c orrec t  s equence for  ins tal l ing a  new s oftware
appl ic at ion on a Windows  O S ?appl ic at ion on a Windows  O S ?

A nsA ns 1. Download the software installer > Run the installer > Follow the on-screen instructions

2. Open Device Manager > Select Install Software > Follow the on-screen instructions

3. Insert installation CD > Open Task Manager > Install Software

4. Open Control Panel > Add Hardware > Follow the on-screen instructions

Q .81Q .81 Rama bought 1 2  kg oranges  at  ₹80 / kg,  1 8  kg oranges  at  ₹60 / kg,  2 0  kg oranges  atRama bought 1 2  kg oranges  at  ₹80 / kg,  1 8  kg oranges  at  ₹60 / kg,  2 0  kg oranges  at
₹3 9/ kg and 1 0  kg oranges  at  ₹3 0 / kg.  Find the average per  kg pr ice of a l l  the oranges .₹3 9/ kg and 1 0  kg oranges  at  ₹3 0 / kg.  Find the average per  kg pr ice of a l l  the oranges .

A nsA ns 1. ₹58

2. ₹52

3. ₹54

4. ₹48

Q .82Q .82 Find the value of m,  s at is fy ing equation:Find the value of m,  s at is fy ing equation:

A nsA ns 1. 

2. 

3. 

4. 

Q .83Q .83 The inc ome of A mit  in 2 0 1 9 was  ₹2 3,60 0 .  He gets  an inc rement of 2 0 % every  y ear.The inc ome of A mit  in 2 0 1 9 was  ₹2 3,60 0 .  He gets  an inc rement of 2 0 % every  y ear.
What was  his  inc ome ( in ₹)  in 2 0 2 1 ?What was  his  inc ome ( in ₹)  in 2 0 2 1 ?

A nsA ns 1. 33,984

2. 23,600

3. 28,320

4. 33,040

Section : Quantitative Aptitude
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Q .84Q .84 Work ing s eparately ,  two pipes  c an fil l  a  tank  in 1 8  min and 3 6 min.  How muc h t ime wi l lWork ing s eparately ,  two pipes  c an fil l  a  tank  in 1 8  min and 3 6 min.  How muc h t ime wi l l
it  take to  fil l  the tank  if  both the pipes  are opened s imultaneous ly ?it  take to  fil l  the tank  if  both the pipes  are opened s imultaneous ly ?

A nsA ns 1. 684 sec

2. 720 sec

3. 696 sec

4. 756 sec

Q .85Q .85 A  man s el ls  a  mobi le phone for  ₹60 0  and los es  s ome money .  I f  he had s o ld  it  forA  man s el ls  a  mobi le phone for  ₹60 0  and los es  s ome money .  I f  he had s o ld  it  for
₹1 1 2 0 ,  his  gain would  have been 3  t imes  the ear l ier  los s .  The c os t  pr ice ( in ₹)  of  the₹1 1 2 0 ,  his  gain would  have been 3  t imes  the ear l ier  los s .  The c os t  pr ice ( in ₹)  of  the
mobile phone is :mobi le phone is :

A nsA ns 1. 710

2. 730

3. 760

4. 750

QQ
..
88
66

AA
nn
ss

1. 

2. 

3. 

4. 

Q .87Q .87 In an elec t ion,  there were only  2  c andidates .  The los ing c andidate received 75% of theIn an elec t ion,  there were only  2  c andidates .  The los ing c andidate received 75% of the
votes  the winner  got .  I f  the votes  pol led  for  the los er  were 1 2 0  les s  than that  of thevotes  the winner  got .  I f  the votes  pol led  for  the los er  were 1 2 0  les s  than that  of the
winner,  then what percentage of the total  votes  d id  the winner  get  ( rounded up towinner,  then what percentage of the total  votes  d id  the winner  get  ( rounded up to
two dec imal  places) ?two dec imal  places) ?

A nsA ns 1. 55.28%

2. 56.38%

3. 57.14%

4. 52.24%
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Q .88Q .88 The average of the firs t  2 3  natural  numbers  is :The average of the firs t  2 3  natural  numbers  is :

A nsA ns 1. 13

2. 12

3. 11.5

4. 12.5

Q .89Q .89 A  pers on s aves  p% of his  inc ome.  I f  his  inc ome inc reas es  by  2 8% and his  expenditureA  pers on s aves  p% of his  inc ome.  I f  his  inc ome inc reas es  by  2 8% and his  expenditure
inc reas es  by  2 0 %, his  s av ings  inc reas e by  4 0 %.  What is  the value of p?inc reas es  by  2 0 %, his  s av ings  inc reas e by  4 0 %.  What is  the value of p?

A nsA ns 1. 40

2. 38

3. 34

4. 30

Q .90Q .90 Find the value of 4 0 . 5 – 6 .3  ÷  1 .2  of  4 . 5 ×  0 .9 .Find the value of 4 0 . 5 – 6 .3  ÷  1 .2  of  4 . 5 ×  0 .9 .

A nsA ns 1. 39.45

2. 5.7

3. 19.2375

4. 39.25

Q .91Q .91

A nsA ns 1. 

2. 

3. 

4. 

Q .92Q .92 A n art ic le marked for  ₹1 ,1 0 0  is  s o ld  at  5% dis c ount .  The s el ler  s t i l l  gains  4 . 5%.  WhatA n art ic le marked for  ₹1 ,1 0 0  is  s o ld  at  5% dis c ount .  The s el ler  s t i l l  gains  4 . 5%.  What
did  he pay  for  it?d id  he pay  for  it?

A nsA ns 1. ₹1,000

2. ₹250

3. ₹500

4. ₹400
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Q .93Q .93 A  goods  train and a s uperfas t  train s tarted running from s tat ion A  and s tat ion BA  goods  train and a s uperfas t  train s tarted running from s tat ion A  and s tat ion B
res pec t ively ,  at  the s ame t ime,  towards  eac h other  on paral lel  trac ks .  I f  the d is tanceres pec t ively ,  at  the s ame t ime,  towards  eac h other  on paral lel  trac ks .  I f  the d is tance
between s tat ion A  and s tat ion B  is  1 72  km and the trains  are running with s peeds  ofbetween s tat ion A  and s tat ion B  is  1 72  km and the trains  are running with s peeds  of
82  km/ hr  and 90  km/ hr  res pec t ively ,  then at  how muc h d is tance ( in km)  from s tat ion82  km/ hr  and 90  km/ hr  res pec t ively ,  then at  how muc h d is tance ( in km)  from s tat ion
B  wi l l  the trains  meet?B  wi l l  the trains  meet?

A nsA ns 1. 90

2. 80

3. 104

4. 109

Q .94Q .94 Two trains ,  eac h 2 0 0  m long,  are travel l ing from oppos ite d irec t ions  at  a  s peed of 54Two trains ,  eac h 2 0 0  m long,  are travel l ing from oppos ite d irec t ions  at  a  s peed of 54
km/ h and 4 6 km/ h,  res pec t ively .  In how muc h t ime ( in s ec onds)  wi l l  they  c ros s  eac hkm/ h and 4 6 km/ h,  res pec t ively .  In how muc h t ime ( in s ec onds)  wi l l  they  c ros s  eac h
other?other?

A nsA ns 1. 160

2. 180

3. 14.4

4. 16.4

Q .95Q .95 Two pipes  X  and Y  c an fil l  a  c is tern in 2 1  hours  and 24  hours ,  res pec t ively .  The pipesTwo pipes  X  and Y  c an fil l  a  c is tern in 2 1  hours  and 24  hours ,  res pec t ively .  The pipes
are opened s imultaneous ly ,  and it  is  found that  due to  a  leakage in the bottom, itare opened s imultaneous ly ,  and it  is  found that  due to  a  leakage in the bottom, it
takes  4 8 minutes  more to  fil l  the c is tern.  When the c is tern is  ful l ,  in  how muc h t imetakes  4 8 minutes  more to  fil l  the c is tern.  When the c is tern is  ful l ,  in  how muc h t ime
wil l  the leak  empty  it  i f  no  pipe is  open dur ing that  t ime?wil l  the leak  empty  it  i f  no  pipe is  open dur ing that  t ime?

A nsA ns 1. 168 hours 

2. 130 hours

3. 144 hours 

4. 120 hours 

Q .96Q .96 O ne y ear  ago from now,  the rat io  of  A's  age to  B ’s  age was  6  :  5 .  A fter  4  y ears  fromO ne y ear  ago from now,  the rat io  of  A's  age to  B ’s  age was  6  :  5 .  A fter  4  y ears  from
now, the rat io  bec omes  7  :  6 .  What is  the pres ent age ( in y ears)  of  B?now,  the rat io  bec omes  7  :  6 .  What is  the pres ent age ( in y ears)  of  B?

A nsA ns 1. 25

2. 26

3. 27

4. 22
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Q .97Q .97 The rat io  of  the pres ent ages  of A  and B  is  4  :  9 .  B  is  1 2  y ears  y ounger  than C .  C 's  ageThe rat io  of  the pres ent ages  of A  and B  is  4  :  9 .  B  is  1 2  y ears  y ounger  than C .  C 's  age
after  7  y ears  wi l l  be 73  y ears .  What is  the pres ent age of B 's  father  ( in y ears) ,  who isafter  7  y ears  wi l l  be 73  y ears .  What is  the pres ent age of B 's  father  ( in y ears) ,  who is
55 y ears  o lder  than A ?55 y ears  o lder  than A ?

A nsA ns 1. 65

2. 79

3. 75

4. 69

Q .98Q .98 If  4% of x  =  2 2 8 ,  then x  = ?If  4% of x  =  2 2 8 ,  then x  = ?

A nsA ns 1. 5800

2. 11500

3. 11400

4. 5700

Q .99Q .99 Nit in s el ls  two art ic les  for  ₹5,1 69 eac h with no profit ,  no  los s  in the ent ire trans ac t ion.Nit in s el ls  two art ic les  for  ₹5,1 69 eac h with no profit ,  no  los s  in the ent ire trans ac t ion.
I f  one art ic le was  s o ld  at  a  gain of 50 %, then the other  art ic le is  s o ld  at  a  los s  of :I f  one art ic le was  s o ld  at  a  gain of 50 %, then the other  art ic le is  s o ld  at  a  los s  of :

A nsA ns 1. 22%

2. 26%

3. 25%

4. 24%

Q .1 0 0Q .1 0 0

A nsA ns 1. 

2. 

3. 

4. 
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